greef g — |
H&AT — 10d]
Hifsar gvs gexeTie fawa sIs — (906)

HHY © 3:00 EOC qUites — 100 37

forcer .— gl yvl & Sax o= sifard @ —

1. U HHID 1 IS U 2| SHH WUS I Ud WUS g T dAT WUS

(31) H 5 e © TAT WS (@) H 5 U & | UAP UL W 1 (P IM&fed 2|

Instruction:- Question No. 1 is an objective type question It has part (A) and part (B). Part (A)

carries 5 Questions and Part (B) carries 5 question mark in allotted to each question.

2. U HHI® 2 W 7 6 ANAYSH®T U 2| TS A W 2 3d
an&fed 2| IR @ AfHaH A 30 IS T |

Question No. 2 to 7 are very short answer type question carries 2 marks. Maximum

limit of answer i1s 30 words.

3. U% HHIG 8 W 11 dF AMTAYSTRIT Ue9 8| IS 99 W 3 3fd
amefed 2 | SR @ Afdad T 50 IS ¢ |

Question No. 8 to 11 are very short answer type question carries 3 marks. Maximum

limit of answer is 50 words.

4. U HHIB 12 F 17 TP TGITIII U 2| UAS U H NdRE fawed
2| ISP e W 4 3P AMEfed g | TR DI AfThad ™1 100 R 7 |

Question No. 12 to 17 are short answer type question. Each question has on internal

choice. Each question carries 4 marks. Maximum limit of answer is 100 words.

5. U9 HHIB 18 | 23 TPh STISTRIY U B | UIH UH H AaRe fddmeq
2| UUP U WR 5 3fd IEfed 2| SR D AfTHad HHT 150 IS T |

Question No. 18 to 23 are Long answer type question. Each question has on internal

choice. Each question carries 5 marks. Maximum limit of answer is 150 words.

6. U2 HHID 24 F 25 TP STISTRIT U B | UIH UH H AaRe fddeq
2| P U WR 6 3P IMEfed 2| SR P AfThad HHT 200 I T |

Question No. 24 to 25 are Long answer type question. Each question has on internal

choice. Each question carries 6 marks. Maximum limit of answer is 200 words.



grs (3)
(USRS YT 1 3P BT B)
U HHId 1 — @us (3) = H 9 [ fahey geax fafag —
() ot 8 @1 Refior fhar Tam —

(31) 29 SIS 2015 () 28 TATE 2015
(|) 29 3FTRT 2015 (%) 28 3T 2015
(i) Doyou ................. a dog?

(37) has (d) have

(9) had () are

(31) Their - There (@) Dam-Damm

(9) Dear-Deer (%) Bee-Be

(iv) T RTes BIEa BT TaRICIH 87

(@1) .zip () Zip.
(@) Zip (]) zip
(v) Hello sir! how ........... you?

(@) is (@) am
(%) are () was

() TP SAMT®HeR B R FHE BT 999 & foy ReR 2iem 2|
(i) 180° ¥ &I 9 wET 2 |

(iii) T 3BT BB W AR BFT AT |

(iv) UTE® B Repraal W e T AT Ay |

(v) ATDET JMHA—A™A fhar ST 2 |



us ()

(URAD Y 2 3P BT B)

U AP 2 — X Box [STd T 57 2

U9 hHID 3 — AT (Goods) T 27 2

U9 HHIb 4 — SUHIGT [T HEd 82 2

U HHID 5 — S 9T 57 IRy | 2

93 hHIb 6 — Key WH b dHad 87 2

g9 HHlb 7 — YSRT 7T B° forlRay? 2
v (9)

(USRS Y 3 AP BT B)

g% HHAD 8 — BEIGIN AR SHEINF H DIS 3 3R faRag? 1+1+1=3

U AP 9 — H 3R A H bl 3 R faRag? 1+1+1=3

g% HHIDB 10 :— Zoom &IT & UbRI B felRay? 1+1+1=3

U HHID 11 — BRI FT 572 3
gvs (<)

(AP Y 4 AP BT B)
U2 HHIG 12— VEAERA 3R TR H I fafae? (@1 ar)  1+1+1+1=4
aferar
faerer forfraw & ofer forfay | (@1 aR)
U3 HHIG 13 — BIFCHd & SUfthes Bl FHSMZU? 4

YT

BT & FUART BT FASTZY?

U9 HHIB 14 — B RATT B T9I b9 IR 97af Bl €99 | Q=T A1y |

1+1+1+1=4

AT

TEh 2USe] Hd GHT fob TN 91} BT &g | YE+=T =feu |



u% BHiD 15 — 3ftedel S AR $ioted s@ 4 iR fMfay? (@8 aR)
1H1+1+1=4

AT

TRIEH ol TTe 3R ot wre # oiR fofag | (@ 9R)

Ueq HHIG 16 — Th AR Sfall TAT DI FHIEY? (2+2=4)
3ferar
BS U 3R @7 Tl I HHSIST?
geq HHB 17 — Yoid UFRR 01 & &= oR 99es <ed & ol foRag?
1+1+1-+1=4
3ferat
TSI AISS U @ dIs IR favman faRay?
Gvs (3)
(AP YT 5 3 d B 8)

U3 HHIG 18 — TildyH 3R Rived dfteR # sfar forlRau? (@1 ur)

14+1+1-+1+1=5

AT

THOTHOUGRTS 3R THOTH0TS H 3faR forlay? (@1 ura)

U9 b 19 — HETsd WENAIH! BT Sd1d D oAT Aley AHSISU? 1+1+1+1+1=5
31erar
IEdH & RIeadl B ¥ gved BT A1y FHI? (Bl Uia fag)

U HHIDB 20 — G b AT B B DI UlhAT BT Ui f[a=gall # forag?
14+1+1-+1+1=5

AT

ST BT YH3MTT R A B o7 Be o S qrer favgan
IGIECING
Ueq HHID 21 — UTED Bl ol Al TOT BT FHR fhd ThR BT a1fau?

14+1+1-+1+1=5
3ferdr



UEH & FA B a9 {hd ISR A <A1 dA1fe? (Hrs Uia)

U9 P 22 — Ic W AU RT AT 87 Wiie & T bl I 9 H qfThRor
PITY? (2+3=5)
arerar

TR | Y @ §Hed 87 Uigsyd & i A H il
HIY?

Ueq HHIDB 23 — dhb AR[US UrolaR AR RIR Yo & A9 91T 4 avfiapd
PIRT? (2v+2%=5)
3ferat
Aec] YaIaIoR 3R JfST @ 2?7 quie Siforg?

Ueq HHIDB 24 — T SIFYHC H <dd I DI AR forRag? 6

AT

ATFCdIR ST & aRvT forfRgu?

U AP 25 — fewol faRay — (3+3=6)
(i) T farera (i) 9 foera
3fexar
(i) egA <mEa Ud (i) T U




g1eet gy — 11

HEAT — 10d]
Hifear gvs gexeTde fawa sIs — (906)
W:&OOW qc:UﬁTﬁ_»]OOQ,:[—CE
s (3)

URAS YT 1 3P BT B)
U HHID 1 — WFT @) T A | 98 fadhed gaax fofay — 1X5=5

Section (A) Select the correct option from the following and write it:

) TRNBI AITedaR BT SaTeR & —
(i)

(e1) ol 7 () THO THO TeRTed
(w) famstor xp (=) wged
(i)Example of application software is -
(a) Windows 7 (b) Ms-Excel
(c) Windows XP (d) Norton
(i) My mother ............. a house wife.
(1) are @) is
(d) am (%) that
(i1) Full form of OPD -
(a) are (b) is
(c) am (d) that
(iii) Their - There T SETERTT & —
(a1) BT (@) wHfeTa
(d) BMEIBA SR RIS
(ii1) Example of their-there is :-
(a) Homonyms (b) Phonetics
(c) Homophones (d) Phonology
(iv) TTE AR prerer 27
(81) eiv—eiR CORSEAER
() APRIHAD (3) SWRIaa a4l
(iv) Effective communication skills is -
(a) Speak slowly (b) Clearly

(c) Positive (d) All of the above



(v) To fafear =T # 9 s UsR & 81 8 —

(&) @ =
(#) = (%) =R
(v) How many types of Zoom in a video camera:
(a) One (b) Two
(c) Three (d) four
e HHIG 1 (@) — Rad Il @ g Sy — 1X5=5
(A) Fill in the Blanks:
O R— HTST A &1 Ud 9Rar & fORIH A19a 91T 61 3farst &l

ey fohar irar 2

[€) I is a branch of linguistics that comprises the study of the sound of

human speech.

(i) Her father ..................... in the army for 3 years.

(ii1) Retailer should keep ................ of complain.
(iv) UT8D F SABIT H o T |
(iv)Donot ................. with the customer over the telephone.
(v) PEHIBR ARR TP BB B ... @ IR 91T B B |
(v) Storytellers often talk about the .............. of a story.
gvs (q)

(USRS Y 2 3P BT B)

3T HHIb 2 — dIgIed T 87 2
What is Onedrive?

U AP 3 — UTED 4T 27 2
What is customer?

UeT HHID 4 — UTED G T 67 2
What is customer queries.

U HHIDB 5 — S & fdhdd UHR B 57 "M faaRag? 2
How many types of zoom. write the name.

U HHID 6 — JHWT D IBR0T feTRag? 2

Write examples of workspaces.

U9 b 7 — HEITIA FIT 272 2



What is compositions.
v (9)
(USRS YT 3 3d BT ©)

U9 hHIPb 8 — UJdS N Aude H fax forRRgu?

Difference between Like and Dislike.

3T HHIPb 9 — HbIST I 3T T FHsId 87 forRau?

U349 hHIb 10 :

U9 hHld 11

U4 hHlDb 12

U3 hHlh 13

U9 hHlb 14

U4 hHb 15

What is synopsis.
— UfSfeT difsal # gftdee faera Far grr 87 faRag |
What is a duplicate clip in the editing video? Write is.
gvs ()

[UAD YT 4 AP BT B)
(Each question 4 Marks)
— PIAI U 3R de e H 3fax farRay?
Difference between copy-paste and cut paste.
31741 / OR
USTedh IR WA b H faR ferfag?

Difference between page break and section break.

— HAR H WIsdd I AEdYul o FHSISY |
Why feedback is important in communication Explain?

31e7dT / OR

HAR AHA FI BIAT 57 AASISY |
Why communication fails? Explain.
— YTEdh RIGRIT 3R Uigd FdxI H AR TRy |
Difference between customer complain and customer Query.
31741 / OR
AT 3R IcaTad H R ferRay?
Difference between goods and products.
— 180° o @Ir 87
What is 180° Rule? Explain it.
31741 / OR

1+1+1=3

2+2=4



P b ol DRdex 910 FHI 3MTBT HIF Al RGB! R IR
AT ATRY |

What are the factors that you need to consider will creating your character for

the story.
e HHID 16 — U 3TH! BeMl Bl [aRiyany fiRae? (@18 9R) 1+1+1+1=4
Write the features of a good story?
3[7d1 / OR
AP B faRvar fafae? (@1 =)

Write the features of protagonist.

U HHID 17 — Y T oRR H UHHeE W—UT 3R Shae &d AN B &7
2+2=4
How do you apply of effect on animation preset to a single layer.

31erdaT / OR

W—HHITE olR 3R Alfels HelR TR &1 9ol BRI |
Explain the pre-composition layer and solid color leyer.
s (3)
(AP YT 5 3 d B 8)

(Each question 5 Marks)
U9 pHID 18 — BIFICHT b SUbIcs DI duid HIfTT? 5

Explain the sub fields of phonetics.
S

3UT 31T I TeT—AeT URRARRT H fhg ydR uRed T |
How to introduce your self in different situations.
U3 HHID 19 — THOUH0TS &I faeyany faRae? (wrg uia) 1+1+1+1+1=5
Write the features of Ms-Word? (any five)
SRCI
THOTHOTS a1 faRiyaTy forRaw? (@1 uf)
Write the features of Ms-Excel?
U HHIDB 20 — CAllBIA RICHER a1 8?7 o HIfoTg? 1+1+1+1+1=5
What is telephone Etiquette? Explain it.
SR



CABIA H 91 HRd FHI fhe—fdbe a1ai &1 & @1 A1 q?
What are the things to be kept in mind while talking in the telephone.
g% HHD 21 — WIC & WY Bl [IRag? 5
Write the steps of plot?
SRCH
JffAfRAT @ e &1 foaRkag?
Write the Act structure?
U PG 22 — YSId WIFRR W1 # rode FEiT &8 e faRay | 5
How to create a project in adobe premier pro? Write it.
SRCH
TS WifeR o # fafsar ofsfeT 9 Har? faru |
How to edit video in adobe premier pro? Write it.

U3 HHIG 23 — CISHAST U9 3R Telrare U9al # ofax forRau? (@1g i) 5

Differentiated between timeline panel and flow chart panel? (any five)

SRCH
W—HAET 3R W—SRT H 3R fARaw? (prg ur=)
Differentiated between pre- compositing and pre- Rendering? (any five)
gvs (B)
(IS Y 6 AP BT B)

(Each question 6 Marks)
U9 HHIH 24 — ITFCIIR ST IR ATFCIIR gl & a0l forRay?

3+3=6
Write the steps of software installation and uninstallation.
SRCH
fO=eIot 8 @& JoR @RT 39 & aRON Bl forRag?
Write the steps of user login in Windows 8.
U AP 25 — AN [l iR 99 [FTq BT FH8y? 3+3=6

Explain the source clip and sub clip?

37erdT
Bs 37 3N B ST Bl FHSNSU?

Explain the fade in and fade out?
we=00=---




